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=(1.1+14)/2x%x80+ (1.4+1.3)/2x%x80+ (1.3+1.0) /2 x283
=(05+10)/2x%x80+ (1.0+06)/2x80+ (0.6+05) /2 x 83
=68.3 +30.3 —17.0 /0.9
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=(224+42)/2x 7.7+ (42 +302)/2x80+(3.02+1.79) /2 x 80
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= ((0.72+0.96) /2% 1.80+ (0. 96+0. 92) /2x0.10) x0. 30 = 0.48 m3

= (0.72+0.96) /2% 1.80+ (0. 96+0. 92) /2% 0. 10+0. 30 x 2. 01+0. 30% 0. 10 = 2. 24 m2
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0.30%0.30x0.45 = 0.04 m3

0.30 x 1.65/2+ (030 +1.0) /2 x80+ (1.0+0.60) /2 x 8.0
+ (0.60 +0.30) /2 x 83+0.30 x 1.456 /2 =15.8 =
(0.30 x 1.65 /2 + (0.30 +1.0) /2 x 80+ (1.0+060) /2 x 80
+ (0.60 +0.30) /2 x 83+0.30 x 1.46/2) x 0.05

=21.5 = 28m
16m2
= 0.79 = 0.8m3
= 0.36 = 0.4m3
=0.0066 = 0.007t
= 240 = 24m
= 1.0= 1X
= 1.8 = 1.8m
= 0.36 = 0.4m3
= 0.79 = 0.8m3
=0.0066 = 0.007t
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